2017 £+=E IM( BIF#2nERE(5/#)

2017 Thirteenth International Mathematics Contest (Taiwan)

s

Y
aL

S EFERE 100 448 X G @ 100 A
(¥ RPEFSARLT G F)



2017 £+=E IM( BIFA2nERE(5/#)

2017 Thirteenth International Mathematics Contest (Taiwan)
KEMERZBEELEER L
— EER (540 H2890)

( )1 KRBTV +Vx— T+ Vx -2 IR/MER :
(A)O (B) 1++2 €)1 (D) RE7E

( )2. Bla—1+V2b+1=0" 8q2006 _p* =2

3 7 9 15
W ®F © O

( )3. BEHEAN)RMEf(xy)=TX)+f(y) Bl f1)BIER <
(A) —1 (B) 0 €)1 (D) 2

( ) 4. BR—EIESRREEIERE 16 ° S—BIESRREEEE:S@1E o i2rEtan) 4
{8 KE—BIELERNEREER ©
(A) 64 (B) 80 (C) 96 (D) 128

( ) 5. RFMER—KR T ITAF » RREXREER THEA 30 D& RFEESE
BEERE 20 niE ERRXBLSR TR 5 LI BIRFEERTIEEE
FR¥E* (A)10 (B)11 (C)14 (D)15 D&

( ) 6. BI%0 : COfE 1247 » EEIEFIGE  CrRIB={EES <10 - EBE
B EHBEZIME® (A)161  (B)163 (C)165 (D) 167

( ) 7. —REKE y=x+5 HBEEBE2E P(a,b)F0 Q(c,d) » 8l a(c—d)—b(c—d)BViE
™7 (A)25 (B) —25 (C)5 (D) —5

_ BB (8860 48 7)

1. BRI +3"2 =108 KmWEE D -

IMC B[ EELHER T (GE) /FH FLHAIH



. Bfla=+J5-1’8I2a®+7a?-2a-5=__ O -

E
. W8 A ABC @ » AD ~ CE“ 2B ~BAC ~ ~ACB:* H AC= 0
AE+CD* XK ABCRIEEIR (O - B D C

. As shown in figure, the area of hexagon(7\i2/%%) ABCDEF is ¢
1
17.5, Z/BCD and ZF are right angles, the rest of(E&F) four ¢

angles are equal, the three side of the hexagon is BC=2,
CD=3, EF=1.Then what is the area of AACE? @ .
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. As shown in figure, a is the side lengthGEE) of rhombus(EF) D
ABCD, O is a point of diagonal(¥f#R) AC, and OA=a, OB= .
OC=0D=1,thena=__ ® . i s
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